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Stat 134
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. Consider a well shuffled deck of cards. The
expected number of cards before the first ace
is?
a h2/5

8/5
c 48/4

d none of the above

The p of getting an ace is 4/52 or 1/13, therefore,
the EV should be 52/13 or np.

There are 48 possible cards to pull before the first
Ace (52 cards - 4 Aces), which makes n = 48. For
each individual card, there are 5 places it could
go: before all the Aces, after the 1st Ace, after the
2nd Ace, after the 3rd Ace, and after the 4th Ace,
making p = 1/5. E(X) = np = 48/5
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~What is the SD of the following figure?
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Vel = Gda) = E ((x~ EL"\)L>
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1. A list of non negative numbers has an aver-
age of 1 and an SD of 2. Let p be the pro-
portion of numbers greater than or equal to
5. To get an upper bound for p, you should:

XAssume a normal distribution

e
b Use Markov’s inequality A% S M} ¢ hﬂ?S\ )
c Use Chebyshev’s mequahty C\ >
P(x 3? =

\+ VL
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d none of the above
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